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S T UDY OCENTIRE
AGRICULTURAL OFFICER EXAM (14.07.18)

ANALYSIS
S.NO SUBJECTS NO.OF. QUESTIONS
1. MENTAL ABILITY 24
2. SCIENCE (19)
1. BOTANY 4
2. ZOOLOGY 5
3. PHYSICS 5
4. CHEMISTRY 5
3. HISTORY (16)
1. MEDIEVEL 1
2. MODERN 13
3. SOUTH INDIA 2
4. CURRENT AFFAIRS 14
5. POLITY 7
6. GEOGRAPHY 5
7. ECONOMICS 5
8. GENERAL KNOWLEDGE 8
TAMIL NADU AFFAIRS 2
TOTAL 100
Topics No. of Questions
1. Gentral Government Schemes, Policies 3
2. TN Government Scheme 1
3. Other State Government Scheme 1
4, Questions With Exact Dates 5
5. Books and Authors 1
6. Questions with Exact Numbers 5




BIOLOGY

Exhibition of superiority by a hybrid over of its parents is called
a. Heterosis b. Hybridization

c. Hypostatis d. Recessive

QuBGMTT  Hewev(pewBenw! &l SIHS 2 WiTe LewILBmeT ] GUBM  SHeoli e
o ulfl ereniLBeugsl

a. seol effluib b. sevlifemorged

C. emamriBumerdLmdlerd d. @bmIs Heenio

Which is not true of a prokaryotic cell?

a. No mitotic cell division

b. DNA not associated with proteins in chromosomes

c. Typical cell organelles like mitochondria are absent

d. Membrane - bound nucleus

UGImBasMwm’ 19 GF60 GHMSHSHI 61& 2 6WienD B60en6V?

a. vl Loy GFed LG SlenlWimg|

b. &GmGwrBamibsefled 19.6165.6). Q6T LTHID Senemibd(HLILIZ606M60
c. ool BLmamemi flwr Cureas GFed o mIliseT S(HLUILSHLmMED

d. seualamed @OUILLL 2 I &

The C4pathway of CO; fixation was discovered by

a. Arnon b. Hatch and Slack c. Calvin d. Hill
PSS D epeold Sflwibdlev eumuy HleweVBMISHHIHN60 &HewTLMlbHHeuT
a. SYTeITe b. Gami & BBID erdevTEH C. SO d. anfled

Match the List I (Shapes of Viruses) with List - II (Examples) and choose
the correct answer using the codes given below.

List - 1 List - II
A. Helical rod shaped 1. Bacteriophage
B. Brick shaped 2. Tobacco mosaic virus
C. Tadpole shaped 3. Rabies virus
D. Bullet shaped 4. Pox virus
A B
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uCiguwed I (eweugervsmeient eugeumideT) o Leir Llguied [l-gy (2 _smyemimisel)
QuUTHGHS, HC 2 6o CFHTGLTHHSH Ffwmer almLmuwsd s fle CFuis.

Ul iguiey I U iguied 11
A. smer @p GFF algauld 1. Gublefuwdb6sTeved meauyerd
B. Qgmised augaid 2. LenBUTeneuLl LI606)GIT600TL | L&
ORI
C. syl enL  augalld 3. QauBIBTUIGSI ENEUT6eND
D. yebeul. augaid 4. SIDENID MHEUT6ID
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CHEMISTRY

Polymerization of which one of the following monomers produces a
synthetic rubber?

a.1, -3 butadiene b. Acrylonitrile c. Vinyl chloride d. Propylene
Cwmens JuLT swmiissll LweaubGSSULGLD CorGermoT 61gi?

a. 13-yl Lmemi_ulleor b. ©15MGemenpL enyed

c. alenaied GGemmeny(® d. yyinieSes

An ester used as medicine is

a. ethyl acetate b. methyl salicylate

c. ethyl benzoate d. methyl benzoate
LO(BHSTHL LIWIGTLI(BLD  6T6rOL T

a. a5HFHev FCLL b. GusHed FmeldBGeul
C. a1HhFHed GLGTGFTGWIL d. Gszed OLEIGFTGWIL

Which organic compounds polymerize to form the polyester Dacron?
a. Propylene and ethylene glycol

b. Terethalic acid and ethylene glycal

c. Benzoic acid and ethanol

d. Dimethyl terephalate and ethylene glycol

b SalnF Gamod uveouQWITSSILL G OLdITer uTedlerdLT SHlenL&mal?
a. yyiiellenr wommid 615360601 HlenendHmed

b. QLAgTedd oufevd BBID 6T6HH 656 Benendsmed

C. Querrsmuid SflevlD LOBMID 618 5H60TT6V

d. LW HHN0 UMl WBEID 61586568 HenemdbaTen
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10.

The fertilizer which is called as ‘nitrolim’ is

a. Spuer phosphate b. Calcium ammonium nitrate

c. Clacium cyanamide d. Sodium nitrate

‘bl Grmedild’ e1eimBenIOSHSLILIBLD 2 [FIb

a. @&Uuir umerd@u b. &mebflud oudGurefuib enpbL Gyl
C. &meodlwd Fuwierenio® d. Gamguub enpl Gy

Match correctly the following List I and List 2

List 1 List 2
A. Vanadium 1. N; and O, Scavanger
B. Molubdenum 2. Brass and Bronze
C. Chromium 3. Radio valves and bulbs
D. Copper 4. Chrome plating
A B C D
a. 1 4 3 2
b. 1 3 4 2
C. 4 1 2 3
d 3 4 1 2
SIPHBHEWIL. LI IQUIe0H6T 1 B 2 Sidlulenaudsenensd FRwmsll QUT(HHSHIH:
UL Quied 1 L Quied 2
A. auBemiguilb 1. No iopmip O péaduins
B. wmedligeod 2. Uszemen WwBBID 6l6e6wT&He0lD
C. &Gymiund 3. GrBuim 6umeL6EYHEIT LOBMID LIGOLH6IT
D. smiyb 4. &Gymb (LpeVTD LFi&H60
A B C D
a. 1 4 3 2
b. 1 3 4 2
C. 4 1 2 3
d 3 4 1 2

CURRENT AFFAIRS

First time the container train service between India and Bangladesh starts

on

a.3.2.18 b.3.3.18 c.5.4.18 d.3.4.18
OhHWT-amSCHFID  @ewL B (PpHeiT  (pedBWITE Sl wletT  @guled
Cremeudsmmar @L LD 6IIOUTIREH CHTLmSWIEH?

a.3.2.18 b.3.3.18 c.5.4.18 d.3.4.18




11.

12.

13.

14.

15.

16.

Which day the Clean Sea - 2017 was conducted by the Indian Coast
Guard?

a. 29th December 2017 b. 28th November 2017

c. 29t November 2017 d. 30t November 2017

“@hsomer HL60 20177 eeip LWIBFlenw 6hgH HTelled BbaHul sLGeory SHTeusd
uemL Oguls?

a. 29 waur 2017 b. 28 meubuir 2017
c.29 meubuir 2017 d. 30 meumbur 2017

Which scheme is launched for the simplified and transparent
administration of registration department in Tamil Nadu?

a.STAR 1.0 b. STAR 3.0 c. STAR1 d. STAR 2.0
SOPHHHL LHSHemB  FTTIe0 o (HeuTdhsLlIUL [BHelTem  elefleniouimen  LOBMID
GeuaiiLenL WmeT HliTeuTsld SigliLienLulleomer Sl L LD 61gi?

a. evormt 1.0 b. evLmt 3.0 c. eomt 1 d. eomr 2.0

Who is the Governor of Reserve Bank of India?

a. Mr. Raguram Shri Rajan b. Mr. Y.V. Reddy
c. Mr. Urjit Patel d. Mr. Bimal Jalan
ObFHw W0wHH W eumsSUTeT SHeuTerT UImT?

a. Mr. g@ymb 10§ gmeges b. Mr. Y.V. Qyiip
c. Mr. eaimedi” L GLed d. Mr. iioed £3e0medt

“She Means Business” programme for women entrepreneurs launched in
which state?

a. Karnataka b. Odisha c. Kerala d. Tamil Nadu
“She Means Business” ez OQuemt GaTHed DFHIBHBBTET S L S
SIDOLIBSHIH U LOTHIeVLD 61517

a. SBILST b. eflagm c. Gayemm d. sBTH

India witnessed the Goods and Services Tax (GST) is introduced on

a. 1st June 2017 b. 1st July 2017

c. 5th July 2017 d. 5th June 2017

AhHwneled g7H@ wWBBID GCFemeu aull (Yeme]) DIBIAPSILIGHSLILLL  [BT6T
a. 1, egeeit 2017 b. 1 sgeewev 2017

C. 5 sgeemev 2017 d. 5 sgeair 2017

How much grant provided by India to Seychelles in the field of
development assistance during the year 2015?

a. US $ 6.5 million b. US $ 4.3 million

c. US$ 3.6 million d. US $ 1.2 million
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17.

18.

19.

20.

21.

2015 sewip FOFeLEH GRUWIHDHEG oauenTFd o gHal HHwTs GbHWT euphHIsul
CFHTend 61616667

a. 6.5 evedwiest ©IEWMNHH L mevT b. 4.3 Hevedwiest £1GW0ASEH L mevT

C. 3.6 Wevadlwier SOM&s LmeoT d. 1.2 10eve0wen &OGWM&s LT

When did the ISRO launch the GSLV-F08 rocket with GSAT-6A satellite?

a. 29 April 2018 b. 29 March 2018

c. 28 February 2018 d. 29 January 2018

letorveteval — 6r.".[108 JTHOBL cpevld MIFTL-66) OCFWBNHH Comemen @er0Cym
IGUT(DSH Sl Twig)?

a. 29 ergev 2018 b. 29 ity 2018

c. 28 Migeufl 2018 d. 29 semeufl 2018

How many players were participated in Boxing, 51 kg weight women’s
category in 21t Commonwealth games at Australia?

a.7 b.9 c.8 d. 6

SLVFHCTellwmalled HLOUBB 21-6ugH  HTOETO6I60E alenemwtl 960, 51  &GeoT
GoHBFmmL  CuewideT el LLlflalled  GoTeHHD  eidHHemenr  GuUT  HevbF
(OleBITevoTL_60TT?

a.”7 b.9 c.8 d.6

Name of the award which was awarded by Government of India in 2018 to
Mrs. Lakshmi Navaneetha Krishnan for her folk songs.

a. Padma Bhushan b. Padma Sri

c. Padma Vibhushan d. Bharat Ratna

BhHU SPFTRISSHSTEL 2018-9ib Lewih H(HLF. L &GO HoubS  &(HELH60T60
STH G HUGH BT BUUB UTL 60HEHGHSTH UPRISLILLL. al(hEHl 6157

a. USD LI b. ugw uf c. usw elyger d. unyg gheort

When was the policy “National Mineral Exploration Policy” launched?

a. July 2016 b. June 2016 c. August 2016 d. May 2016

aliIBurgl “Capdlw sailo oLuleyd OCBTeTems” 6B H LD 2 (HeuTdhSULL L G)?
a. seewey 2016 b. egeeit 2016 c. eymerol 2016 d. Gw 2016

Who is the author of the book named “Red Birds”?

a. Mr. Shyam Saran b. Mr. Chetan Bhagat
c. Mr. Mohammed Hanif d. Mr. Gulzar

“Red Birds” et mmedesr eypAflwir winmi?

a. F@m. aQWITD Fyeust b. Hm. GaLer uTsL
C. HB. (WHIDFH QB d. Hm. Gevami




22.

23.

24.

25.

Which one of the following programmes was launched on October 2, 2014?
a. Swachh Bharat Mission

b. Beti Bachao Beti Padhao

c. Atal Pension Yojana

d. Deen Dayal Upadhyaya Grameen Kaushalya Yojana

SpHHWILaBmled IHCLTUT 2, 2014 60 QSUPSUILGSHSILLL S LD 6157

a. geuF umgs S L

b. Guly usBam Guily LGHT

C. 9IL6L Ouetger GuimegeotT

d. ger swmen 2 _urdhwmwm STl Qwengeowim GuimegerT

with reference to the World Bank estimate, what is the share of service

sector in total employment in India during 20177

a. 44% b. 25% c. 31% d. 33%

® 0 QURISUNGT HewihSL 196y 2017 b Siewiged @bhSHwnaled o eiten L (h
QwrgHy CFmhevreniTseaisd ehHHemen FHaldlsd GuT Cmeusd sHiemmuied FHUL(H
QU(TH Bl GBI 60TT?

a. 44% b. 25% c. 31% d. 33%

ECONOMICS

The tools of fiscal policy of India

a. Public Revenue and Public Debt

b. Public Expenditure and Public Debt

c. Public Revenue, Public Expenditure and Public Debt
d. Public Expenditure only

OhFHw HHs Osmeensuler smalser wmeneu?

a. QuTgkl eumeuTu!l LBWID CUTEHIS SHL 6T

b. QurglF GFeve] WBEBID GUITHIGBDL 66T

C. Qumgl eumeurul, QUTHIF GFeve] LOBBILD CUTHIS SHL 60T
d. Gurgis GFeve LU (BID

“Ever increasing state activities” is the law of

a. Pecola-Wiseman b. P.A. Musgrave

c. ].M. Keynes d. Adolph Wagner

“odler QFeve sl DFHEMNHHIH CBTamNgHBHMH” 616IB alHenl ILDHIS ULIGIT
a. GuBaevr-eneuerdGLDGH b. P.A. wervoa&Gyei

c. .M. &eairerd d. oLmedl1 eurden




26.

27.

28.

The plan outlay for industrial sector during the first plan in India was

a. Rs. 55 crore b. Rs. 550 coroe

c. Rs. 97 crore d. Rs. 425 crore

@phywneler (pHeoTeudl HLGHHL CFHTHed  FHewmHosam  GFuiwiiul L
CTHH @HIHBH

a. apumul 55 G b. epumus 550 Gaitig

c. epumul 97 Gamg d. apumut 425 Gaimig

In planning, the slogan of “Garibi Hatao” refers to

a. Removel of poverty b. Economic growth
c. Inequalities of Income and Wealth d. Self attainment
HLOBH0e0 “amfil] CamiLmel” 6B (pHES aumgsd GBIULGHaS
a. QUBIENDENUI DIBBHIHE0 b. QummenTsTy eueniTE S

C. aupLoTer GFevey GeumiLm® d. sapose GLBIHE

Match the names of the Chairman in List I with the finance commission in
List II

List I List II
A. Nand Kishore Singh 1. 14t Finance Commission
B. Vijay L. Kelhar 2. 12t Finance Commission
C. C. Rangarajan 3. 15t Finance Commission
D.Y. Venugopal Reddy 4. 14" Finance Commission
A B C D
a. 2 3 4 1
b. 3 2 4 1
c. 4 3 2 1
d 3 4 2 1

uluwed I 60 BmébGD SHmevalTsefer CuwITdemen L lguied [I-60 maob@ib
PHS GHWeHHCentlh CQummeHa gilwmer almLemwd CHTHODHMG.
U guied I U guieo 1T
A. BHEH HCagrT Hmi l4oug) P &E 10
B. alsmui e160. GaebamiT 126ug1 HFH&HE WD
C. 4. grispBTH6 156u81 HIFHHEH W
D. qui. Gauemi@srumed G ig 136ug HF&HE WD
A B C D

sl S

ap T

3 4
2 4
3 2
4 2

Wk W N
S U Y




29.

30.

31.

32.

33.

34.

GENERAL KNOWLEDGE

IUCN headquarters is at

a. Morges, Switzerland b. Paris, France

c. Vienna, Australia d. New York, USA
.U].&.6T60T  HEN6VEMOUTNL LD SHIMLOH(HLILIG

a. rTegen, Fell FTeohal b. urferd, LIgmesTerd

C. allwesternt, SLerHGFedlum d. Pugwinités, uy.eterd.ef

Which year, the first Radio programme was broadcast by the Radio Club of

Bombay?

a. 1920 b. 1923 c. 1925 d. 1927
ubuTwl eum@estmedl &lemll H&IGHl (PHev @ILILFLImL SHleumidSlwl 6w H
a. 1920 b. 1923 c. 1925 d. 1927

Where is “Vulcan City’ located?

a. Cuba b. Canada c. USA d. Mexico
‘QUT6LHITEI [HBJLD’ 61MIG DIMLOHSBIETeTSHI?

a. auyum b. sem

C. 9IOwfds MeHul BTHD6I d. GG

This award is to honour eminent coaches who have successfully trained
sports persons or teams and enabled them to achieve outstanding results in
international competitions

a. Dronacharya Award b. Arjuna Award

c. Dhyan Chand Award d. Rajiv Gandhi Khel Ratna Award
gTauBhs enaled allewenwiT (hdh HlewmH6aTed alfiseaiar (L) alememwm B
FHpenet  OeueldbOsTewi(hlD Fpbhs alememuml B LUIBBISITSEHHE DBISSHTJLD
QUPHIGD alemBUTeD aUPRISLILIGD all(H3B

a. sGymewmFamflwm all(mg b. st almsl
C. Fwren &Fhs al(HFH d. gnedet &nhd Gsed FHIT al(Hal
Which of the following country is not included in “Fragile Five”?
a. Brazil b. India c. Nepal d. South Africa
LeSTeu(heueateummIe ‘(pLLTeiT bdH 60 @L DOUBTEH BHTH 6157
a. 1GrHlev b. @bawr c. Grumer d. Osereminifebasr
Match the following;:

Revolution Production
A. Black Revolution 1. Prawns, Onions
B. Grey Revolution 2. Cotton

9




35.

C. Pink Revolution 3. Petroleum production

D. Silver fibre Revolution 4. Fertilizers
A B C D
a. 1 2 3 4
b. 4 2 1 3
C. 3 4 1 2
d 3 4 2 1
QUT(HHHISH:
) (= 2 _[BLSHD
A. sl gl gl 1. BTeL&H6lT, GeUmIBTUILD
B. gmbusd Ly gl 2. UG
C. Uhs yrl g 3. QU Gymellw o MLga)
D. Geueitenr BT Lyl & 4. ©_[mIbel
A B C D
a 1 2 3 4
b 4 2 1 3
C 3 4 1 2
d 3 4 2 1

G.K. GOVERNMENT SCHEMES

Match the following and choose the correct answer using codes given
below.

Scheme Year
A. Indira Awas Yojana 1. 2003
B. National Social Assistance Programme 2.2009
C. National Rural Drinking Water Programme 3.1995
D. Nirmal Gram Puraskar 4.1985

A B C D
a. 4 3 2 1
b. 1 2 3 4
C. 3 4 1 2
d.

2 1 3 4
SaemiLapBens GBUWL ey urmed Fflwrer almLmw GxiTe] GFuis.

SHILLLD QU(HL LD
A. @pFIT Henemey aiBaL(BID HI LD 1. 2003
B.Bsdlw Feps o _saldh SHLLb 2. 2009
C. Capdlw eays GUHT QUPEIGD &I LID 3. 1995
D. Gxdflw &ymo s&&rsmy S 4. 1985

10




36.

37.

38.

0N o
N R
=N W o
WRWN A
BN R

Which one of the following is a Government scheme for the benefit of
women in difficult circumstances?
a. Indira Gandhi Matriva Sahyog Yojana b. Swader

c. Priyadarshini d. Sabla

BIpSHBHWILaBMIed OIHlYSHBIQUITET GLDHlenevulsd MBS WHel(HbETH CHTen[h
Uil L. LD e1g?

a. @bagr &Mbhd wrgHfleur F&Cwind Guireget

b. edeugmir c. Uflwgiragent d. smleor

GEOGRAPHY

Which of the following rocks is different from the remaining three on the
basis of its mode of origin?

a. Limestone b. Marble c. Sandstone d. Shale
LNeTeU(HeUGTOUBMIGT 6% 6Uedd LTewm CHIMM  eUeHS SHMT6RIDTS OBM Py
B H6IMeN(HHEH CoupiLBHmg!?

a. GewemIBGHe0 b, LefmiE C. LDGWIBEH6L d. seflliumens

Which of the following are the geographical landmarks?

I. Grand Canyon National Park

II. Mount Rainer National Park

II1. Delvis Tower

IV. Panner Sultan Park

a. I, IT and III are correct b. I, Il and IV are correct

c. I, IIl and IV are correct d. II, Il and IV are correct
&6 GCaThedsiul Laupnled elened Li@Iuluied Hlev SiHL WITENHIS6NT?
I. &8yewi’ setwmer GHdul LmisT

II. Quwenewi GyuieT Ghdlus LmisT

ITII. GLevallerd LeuT

IV. ueiiedit &60SHT60 LmIST

a. L, Il s 1T sflwmerene b. L II iopgip IV sflwirerene
c. I, Il wopmid IV sflwimerene d. II, III wpmid IV sflwnerene

11




39.

40.

41.

42.

43.

Which of the following is known as “Selvas’?

a. Mengrove forest b. Evergreen forest of Amazon
c. Deciduous forest d. Thorn forest
SlfalmeuaTaIBBIOT ‘OFaIaITe0’ TGIBeNLSSLILGMISI 6157

a. LDMMRIGERHEN HT(HEH6IT b. ©Bwgmer LGMOTBTS HTHH6N

C. Bemeow AT HT{HH6I d. wluysis srhasei

The position of earth farthest from the sun is termed as

a. Perihelion b. Aphelion c. Solstice d. Equinox

ol  @lweledmban Wsessh  OoTmevalsd  EmHE@GHL  Henew  Eeleumm
SIMLPSHBLILBHBBS).

a. Guilanfediwiest b. eiianfedwest

C. &HM FHmlib d. Fwuseiye

Which of the following oceans are connected by Panama Canal?
a. Pacific and Indian Ocean b. Pacific and Atlantic Ocean
c. Atlantic and Indian Ocean d. Atlantic and Artic Ocean

LNeT6U(HeoToUBMIGT  LIGITION — ST60UTUI  (LP6VID  BemelhSLLIBLD  GLI(HHIGSL 60&H6IT
6Temae?

a. udlds 1BLId @HHU GCILIHRISL 6D

b. udlis 1oB@ID SILerOmeNTgs  GILIHBIBL 6D

C. Sl euTeNNgd LOBBID @HHUl GLIHHISL 6D

d. oI evTewTgd OBMID DYTpd GLI(HBIBL 60

MEDIEVAL INDIA
Haroon Minar was built by Akbar in memory of his
a. Wife b. Son c. Horse d. Elephant
WITHEDL W [Hen6TeUTS QBT(HewT LOITen] DIHUT L 196aTiT?
a. Loenea b. et C. GFHevy d. wrewen
SOUTH INDIAN HISTORY
By whom was the Aihole inscription composed?
a. Pulkesin I b. Pulkesin | c. Ravikirti d. Asoka
0CxaTeL HeLOIL ML OFHTGHSHSHeUT WmT?
a. yadGsd - 11 b. yaIGxsA -1
C. Jal&THa) d. o96grsT

12




44.

45.

46.

Who was the seventh Nizam of Hyderabad?

a. Mir Usman Ali b. Mirza Ismail

c. Laik Ali d. Musafar Ali
MABHITUTHSHGT GJIOTOUSHI [HIFTID wImT?

a. 10T 2_eowrer o b. wWiter Gerowruled
C. Qeou1d o160 d. apasmur 960

APTITUDE & MENTAL ABILITY

A train 130 m long is moving at a speed of 65 km per hour. How long it
will take to pass an electric pole.

a. 7.2 seconds b. 6.8 seconds c.89seconds  d. 6.3 seconds
1306 menpewL Wl @h @G Gyuiedles Geusld, ewidh@ 65 &S eleled, &
OGS HIDLIGHH N HL D DIFH 1BHHISHOBTeEHD GBI wrg?

a. 7.2 alemgasei b. 6.8 alaimgset c. 8.9 alamoset d. 6.3 alermgmel
Solution:
Time = /%" Length 130m = 3% — 72 seconds

- =
Train Speed 65><£m/s
18

In an examination out of 480 students, 85% of the girls and 70% of the boys
are passed. How many boys appeared in the examination, if total pass
percentage was 75%

a. 320 b. 340 c. 360 d. 370

480 Gupi@ BLSHBIULL BxHTaled Ouemiseisd 85% b, oyemideied 70%
Casd Gummert. @mureomd Gaiham 75% Garsdd GuBB Memsvuied BzHiTey
RS QoTdhs SLe0IH6I6I  6T6mI6mNHenD 61611616167

a. 320 b. 340 c. 360 d. 370
Solution:
Using Alligation Method
G N >
81%'/. FCO.

\
ER=y)

/N

Y 1O

\ ) Q
13




- B0 _160
3

Boys = 160x2 =320

47. The sum of two numbers is 216 and their H.C.F. is 27. The numbers are

a.27.189 b. 81,189 c. 108, 108 d. 154, 162

B etenidellel gmBHe0 216 OBBID DG L0.0UT.6u 27 666D, Db 6I6wIH6I
a.27.189 b. 81, 189 c. 108, 108 d. 154, 162
Explanation:

Let, two numbers are 27x and 27y
27x + 27y =216

Possible Ratios (1:7), (3 :5)
. Required Number (1 x 27, 7 x 27) = 27 and 189
(3x27,5x27) =81 and 135

48. Find the compound interest on Rs. 8,000 at 15% per annum for 2 years 4
months, compounded annually.
a. 3110 b. 3109 c. 3106 d. 3108
ah 8,000-6@ SWgBEG 15% ey elFHHHe0 2 ouewi  oBmId 4
LOTSHHMBTRT Gnl B UL 19Ul HewTH(Hb.
a. 3110 b. 3109 c. 3106 d. 3108
Explanation:

%=4months = R%=1—35=5%

Cl= [8000>< 115° 155 105
100100 - 100

= [8000x§x§x2}—8000
20 20 20

=11,109-8000 = 3,109Rs

} —8000

49. Find out the wrong number in the series
190, 166, 145, 128, 112, 100, 91
a. 100 b. 166 c. 145 d. 128
CaThdalul’ L OFHTLMed DIWIHSH HEUBTET 6I6wTEN6NTIH HIT6HIb.
190, 166, 145, 128, 112, 100, 91

a. 100 b. 166 c. 145 d. 128

Explanation:
Go on subtracting 24, 21, 18, 15, 12, 9 from the numbers to get the next
number.

14




50.

51.

52.

190 - 24 =166

166 - 21 =145

145 - 18 =127 [Here, 128 is placed instead of 127]
127 -15=112

112 -12 =100 ... and so on.

Therefore, 128 is wrong.

A can do a piece of work in 10 days. B can do it in 15 days. How much does
each of them get if they finish the work and earn Rs. 1,500?

a. Rs. 700, Rs. 800 b. Rs. 500, Rs. 1,000

c. Rs. 600, Rs. 900 d. Rs. 800, Rs. 700

A @m Geaumevenws 10 pm seafldb, B oems 15 milsefleuid, GFuig (pgliLi.
Smeumpd CHiThHG S6CaemevenulsF  GFUIG) ¢Th. 1,500 FFL_1Q 60TT6V,
SIS0FTmHBmW 6leleuTml LIMGHish Clameieul?

a. ep 700, ep 800 b. . 500, 5 1,000
C. b 600, e 900 d. ep 800, 5 700
Explanation:

A B
Days Ratio 2 ; 3
Work efficiency Ratio 3 : 2

1500
Share of A = ?x3:900
1500

Share of B = ?X2 =600

H.C.F. of two numbers is 8. Which one of the following can never be their
L.CM?

a.24 b. 48 c. 56 d. 60
B eewideflen 15.0UT.60. 8 6Tefled BHDSHHEWILUBBIGT 61%H Db 6160618611601
15.0uT.0 &5 DHHS DuleoTd?

a.24 b. 48 c. 56 d. 60
Explanation:
60 is not a multiple of 8

The H.C.F. 24 x 32 x53 x7,23 x33 x52 x72of and 3 x 5 x 7 x 11 is
a. 105 b. 1155 c. 2310 d. 27720
24 x 32 x53 x7, 23 x33 x52 X721 pmmud 3 X 5 %X 7 X 11 e 1816QLH 1SN
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53.

54.

a. 105 b. 1155 c. 2310 d. 27720
Answer: Option A

Explanation: H.C.F. = Product of lowest powers of common factors
=3*5*7=105.

The smallest fraction which should be subtracted from the sum

1E 2l 51,3l and 2%’[0 make the result a whole number is

4°72°712°73
5 7

a. — b. — el d.7
12 12 2
1%,2%,5%,3% LOBMILD 2% a3 Ulaieimideflel &gnl BdH OFHTemsd e@h  (WPIp
GTEUI6IITSS HeWLHBH 61hdH WSHFHABUW Lleiarishmdpd HPHH GauemiBLb.
5 7 1
a. — b. — C. — d.7
12 12 2
Sol:
12 =7/4 2l-5/2 5. =67/12
4 2 12
1 1
3-=10/3 2—-=9/2
+=10/ =9/

The sumof 7/4,5/2,67/12,10/3 and 9/2.
7/4+5/2+67/12+10/3+9/2
=(21+30+67 +40+27) /12

=185 153

=15—
12 12

The smallest fraction which should be subtracted from the sum of 1 % , 2% ,

5% ,3% and 2% to make the result a whole number is 5/12.

If x% of y is equal to z, Then what percent of z is x?

2 1 1007
a. L b. L c. 190 d.
100 100 ¥ y
yeir X% FHAIHONSH W@ FOW 61160 X 6L Z-60 6IHSHME FHaIHLD?
2 100 100°
a. 2 b. -2 c. — d.
100 100 y y
Explanation:
X% of y =z => ](ll)!/ -
_ T 100
oy
x . . » 100?
.. Required percentage = (— * 100)% = ( * 100)% = | )7

Yy y




55.

56.

57.

58.

Volume of the cube = cubic units.

a. a2 b. V2a* c. 3a3 d. a’
&I FHTHDHOT H6 leNey = & DI6VGHH6IT.
a. a2 b. V24’ c. 3ad d. al

For a triangle ABC, the true statement is

a. AC2 = AB? + BC2 b. AC=AB + BC

c. AC> AB + BC d. AC<AB + BC
(p&bGasmewiid ABC uied 61g 2 _ewbienip aUThEHUID 6T6ldh daml
a. AC2= AB? + BC2 b. AC=AB + BC

c. AC> AB + BC d. AC< AB + BC
Explanation:

Forany A A BC, sum of two sides must be greater than the third side.

Hence, AB 4+ BC > AC

Two taps can fill a tank in 30 minutes and 40 minutes. Another tap can
empty it in 24 minutes. If the tank is empty and all the three taps are kept
open, in how much time the tank will be filled?
a. 1 hour b. 2 hour c. 3 hour d. 4 hour
R Ol B1h GTUIST HelsHHelGul (pewpGui 30 MmO mideiT, 40
POLmselled HFiyssa. oBeBTm  Gwrul BT HFbUw GFHTLIgemur 24
B mFefled &Hmedl GFuIud. OHTU 1Y &STelWITs S(HhHSH SIDCaIml  (GHLPTUISEIHLD
@8y FwWHSHeL HWHEH L LI LT60, 61§ Hemenn elGHIHHe0 BIFbLD?
a.1l wewf b. 2 ewf C. 3 16w d. 4 wemd

1 1 1 1 4+3-5 2 1

P = = = -
Explanation: 30 40 24 Total 120 120 60

Therefore, 60 minutes or Thour to fill the tank.

If x: y =5:2then find 8x + 9y : 8x + 2y

a.22:29 b.26: 61 c.29:22 d. 61:26
x:y=5:2aafed 8x+9y:8x+2y e smewr

a.22:29 b.26: 61 c.29:22 d.61:26
Explanation:

x/y=5/2

Means x =5, y =2

Putting value of x and y in expression.
8*5+9*2 = 58.

8*5+2*2 = 44.

58:44 =29:22.
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59.

60.

ol.

In a simultaneous throw of two dice, what is the probability of getting a

total of 7

1
a. — b. 7 C. 7 d. 1
6 12 36 4

Brenih usmLmWw @81 GrrHaled o HLB Gurgl &l (b FHTms 7 aIHUSBE
o flw HeDHHe]

a. 1 b. ’ C. 7
6 12 36
We know that in a simultaneous throw of two dice, n (S) = 6 x 6 = 36.
Let E = event of getting a total of 7 = {(1, 6), (2, 5), (3, 4), (4, 3), (5, 2), (6, 1)).
P (E) = n (E) 6 1

n@S) 36 6

d. L
4

=—=—thenfind A:B: C
:3:5 b.5:4:3 c.3:4:5 d.20:15:2

a.4:3:5 b.5:4:3 c.3:4:5 d.20:15:2
Solution:

A=3 B=4 C=5

Required Ratio 3:4:5

The sum of two numbers is 45. Their difference is é of their sum. Their

L.C.M.is

a.100 b. 150 c. 200 d. 250
B etewidelledl gl (B OFHTend 45. Seual eleuiseier CoumpiumG  ojeumnses

&L (S OFHTendHu et %LDI_ISJEBH@U) aiedlled Sleuall(h eTewidberlen WBFAM AL

a. 100 b. 150 c. 200 d. 250
Explanation

Let the two numbers be x, y.

x +y =45--->EQL x -y =1/9(45)

X-y=5-—- > EQ2. Solve the two equations.
2x =50

x =25

Put x =25 in EQ1.

25+y=45

y =20

So, the two numbers are 20, 25 and their LCM is 100.
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62. If x% of a is the same as y% of b, then find z% of b

2o of a b. £ % of a c. 2% of a d. None of these
z X y

a- e mmugj b-eit y% B@ &b eefed b-eir z% e

Y4 . XZ .
a. a-a1 2 / b. a-eit 22 % c. a-a1 — % d. ergia|iedenev
X y
Answer: Option C
Explanation:
x% of a = y% of b
T Y T
=> - a=- b=>b=(—)a.
100 100 Y
L oy & Tz TZ 0, .
;. 2% of b = (2%o0f—)a = (- -)Ja = (— )% of a.
Y y* 100 Y

63. Solve 14 x 627 +1089 = (?)3 + 141

a. 55 b. (125)3 c. 25 d.5
Srdbs : 14 x 627 +1089 = (?)3 + 141
a. 55 b. (125)3 c.25 d.5
Explanation:
[14X627}—141:x3

33

[14x19]-141=x"

266-141=125=x"
x=5

64. What will be the remainder when (677 + 67) is divisible by 68.

a. 1 b. 63 c. 66 d. 67
(6797 + 67) ezl 68 SLed UGULLT6O LB 6eTetteor?
a. 1 b. 63 c. 66 d. 67

Explanation:
(x" + 1) will be divisible by (x + 1) only when n is odd.
- (67°7 + 1) will be divisible by (67 + 1)

= (6757 + 1) + 66, when divided by 68 will give 66 as remainder.

65. The greatest number which can divide 1354, 1866 and 2762 leaving the
same remainder 10 in each case, is
a. 64 b. 124 c. 156 d. 260
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66.

67.

68.

1354, 1866 wmmid 2762 opdul eemidemen 5% 10 e b@GW0TH @el6leuTetyiD
QUGBS OO  6T600T

a. 64 b. 124 c. 156 d. 260

Explanation:

[1354-10], [1866-10], [2762-10]

The needed number = HCF of 1344, 1856 and 2752=64

Area of a triangle is

a. base x height b. 2i>< base x height

c. 2 x base x height d. (base + height)

(LSBT H 60T LITIILIE6)]

a. OIQLILGSID X o Wiy b. zlx SIQUILSSHID X 2 WD
C. 2 9IQlILdh&HID X o Wb d. (ongliudsld + 2 wiyib)

Solution: %x base x height

From the solid cube having side of 20 cm, how many number of small

cubes having side 5 cm can be formed?

a. 46 b. 64 c. 56 d. 48

20 Q.15 UbE SleTe| OFHTEWIL Hi ST FHT 2 (HoUSHI(HbHIH, 61HHEM 5
CF.18 ubs Slee] GETewIL FB FH HOT FHTHIBHENET 2 (HEOUTEHBHEVTID?

a. 46 b. 64 c. 56 d. 48

Solution:

Edge of cube =20 cm

volume of cube = 20x20x20

volume of each small cube = 5x5x5

number of cubes= (20x20x20)/ (5x5x5)=64

The following circular graph shows the amounts that a family spends on
food, clothing, rent, miscellaneous expenditure and sevings.

Cloths
Do €

o8

Miscellaneous
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69.

70.

If the annual income of the family is Rs. 60000, then the savings are:

a. Rs. 3000 b. Rs. 6000 c. Rs. 7500 d. Rs. 9000
&0ps  GMIuILLUC BeiTem UL auJULLOTEISH @  GHBLUSSTT 2 6wl6),
2 ML, ATLMS, @FHJF OFevaydel BBID CHFOIUSEG OFewa OCFUIRIMHD

GPILIGSBSI.
QL Gns
72° v aray
108°
L. w% Colly
72°

@87 Qaweyadr
72°

GBUSH T QI(HL @IHOTEID df 60000 6leiled SieauTHel GFIOIL] OHTMD

a. op 3000 b. em. 6000 c. ap 7500 d. em. 9000
Solution:
Centre angle of Saving = 360° — [72° +72°+72° + 108°] =360°—-324° =36°

o

£ x 60000 = 6000Rs

o

Savings Amount = 3

MODERN INDIA
The Widow Remarriage Act was passed in the year
a. 1856 b. 1857 c. 1858 d. 1859
aldemal mIoewtd FU LD e1IBUTEH SuiBmri L g)?
a. 1856 b. 1857 c. 1858 d. 1859

Match List I with List I and select the correct answer.

List I List IT
A. Pabna movement 1. Maharastra
B. Moplah rebellion 2. East Bengal
C. Deccan riots 3. Gujarat
D. Bardoli movement 4. Malabar
A B C D
a. 2 4 1 3
b. 2 4 3 1
C. 4 3 2 1
d 3 2 1 4
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71.

72.

73.

utwed I e e uwwywe Iy QuTmss,  Fflwmer  aleLemuwid
CaiThO&H[HSHHLD.
Ul iguiey I U iguied 1T

A. urlienm ®w&asid 1. LDSMTITORL [T
B. olienm &60sID 2. &IPsHEG GURIGBTEITID
C. pbaTem H60HID 3. GHMITH
D. umBxmeld Buisbsid 4. 1DGOLITT
A B C D
a 2 4 1 3
b 2 4 3 1
C 4 3 2 1
d 3 2 1 4

Who founded the Amrita Bazar Patrika?

a. Sisirkumar Ghosh b. Pabindranath Tagore
c. Harish Chandra Ghosh d. S.N. Banarji

il usnTt usbsfdbensenus BHneueu wmr?

a. fdligrm Carad b. BaibHIHTd HTdmi

c. amfled FhHAy Camrad d. S.N. urened

Who described Bal Gangadhar Tilak as the ‘Father of Indian Unrest’?

a. Valentine Chirol b. Disraeli

c. Minto-II d. Chelmsford

LTOSMISTH]  FHeVHM] ‘BbgHlw SimgHuisienouile — HhHms’ oT6oT ]
QU(HemN S HeuT wimir?

a. GeuevsstenL et FGmed b. 196r0@yel

c. WewrGLn-II d. GaerdGumit(

Consider the following statements:

Statement I : The anti-Indian policy of Lord Curzon was greatly
responsible for the rise of extremists.

Statement II : The partition of Bengal added fuel to fire.

Which statement is/are correct?

a. I only b.BothIandII c.Ilonly d.NeitherInor Il

BIDDHHEWIL  OUTDH DI UIMBIBHEN6T  SH6r6T:

ameHEH I srger  Uyyeler  @pHumelBg  aFHgmear  CQBTelTendHer
salyeungHsellen e1(1p&FFSH@G smyeioTUIBm.

amHEH I :  amsren  felener erflud  Huled  eTewrOemrul  earBpluig)
Gumed SLuIBmI.

Baubiled 61g / eledeu &Fifl?
a.l weGw b. 1 wipd II c.Il we@w d.Ib Gevenev II-b &evenev
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74.

75.

76.

77.

78.

Which one of the following is not correctly matched?

I. Sabarmadi Ashram - 1916

II. Champaran Satyagraha - 1918

1. Rowlatt Act - 1919

IV. Non Co-operation Movement - 1920

a.l b. I1 c. III d. IV
SDHHWIL FnBBIBEH6T 61FH FHwTsd CUTHHHa606m607
I. sumpg) erdyid - 1916

II. gbumrer FoHHwTSFaHD - 1918

III. Gyemeol” &L L1b - 1919

IV. siLwopiiy Suidsid - 1920

a.l b. II c. III d. IV

The Regulating Act of 1773 was passed by whom?

a. Lord William Bentinck b. Lord Macaulay

c. Lard North d. Lord Hastings

1773 b oLewi(h RUPRIGPedB FL LD wrgmed HlewmGeummriil L gi?
a. elevelwd Guewtgml LIFL b. G&ssmGsv Ly

C. IS Lyy d. Gamervigmierd L

The first Ryotwari settlement was made is in the year
a. Madras in 1972 b. Agra in 1970

c. Bengal in 1971 d. Mumbai in 1969

(WPFH6e0 JwGHeumi CFL19e00IDeT 6miG 61ICUTEH SHleUmISLILIL L &7
a. Gzeremenuied 197260 b. auemgmaled 197060

C. QURIBTENSHH60 197160 d. @penuulsd 196960

Who was the Firs Indian to preach the gospel of Swadeshi?

a. Raja Ram Mohan Roy b. Dayanand Saraswathi
c. Ramakrishna Paramahamsa d. Annie Besant

G6xd Oameaimsamw (WHeled o LIGHHAHs @HaHwim wmi?

a. gmregmymd Gomser Fmul b. swrehs Fyerdeud)

C. JUOS(HOREW LIFLOQBLDST d. gselugFea

Consider the following statement about Vallabhai Patel.

1. He organized no-tax campaign in Bardoli district

2. He was arrested during the civil disobedience movement
3. In 1946, he selected as Minister in charge of Home Affairs.
4. He died in 1952

Which of the statements given above is/are correct?
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79.

80.

81.

82.

a. 1 and 4 only correct b. 1, 3 and 4 only correct

c.1,2 and 3 only correct d. 1 and 2 only correct

aueLeLLITULI LILGLemevll LBMBiLl SDSHHEMIL UTHSUIMIBEN6T HEUTHBHM|LD
1. uTBsmel wWTaUl L HEHD auflOHTLT BUISBHHMSH HL 56Tt

2. FLLL@IY BuSSSHGICUTSH meH OFuIwiul LT

3. 1946-60 2 eigionm SEWFFITE BHiTery GFUILILILIL LT

4. 1952-60 BouT DuUIBeNS 6TUI GO

oigl / eemeu gfl / Heum?

a. 1 wBpd 4 w @G Fif b. 1, 3 wBmd 4 w G &
c. 1, 2 oBmib 3 w (B & d. 1 oBpd 2 w' G &

The First Public Service Commission in India was set up in the year

a. 1926 b. 1935 c. 1947 d. 1950
AhHWTeIe0 (LPpHe (PHeVTH BHTeUTENeIUILD DIGHIDSHBLILIL L. SL6w0T(H
a. 1926 b. 1935 c. 1947 d. 1950

Who passed a law permitting persons to inherit ancestral property even on
changing religion?

a. Warren Hastings b. Lord Dalhousie

c. Lord Ripon d. Lord William Bentinck

QRHU(HEMLU  DSHIBBHAB@SL L@l HigH (pHTOSWT  CFTHHed LmIG
© ewi(y 6IIB FLL HWGHH CBTewIB eUbHSHEUT WITT?

a. eumyest Bamerdigmierd b. LevGamerd iy

c. Mier gy d. eleveluwid Guiewtignl LiFL

Who was the President of congress, at the time of Quit India movement?

a. M.K. Gandhi b. Nehru c. Abul Kalam Azad d. Gokhale
GeueitememuwiBerr  OQeuaMBum BuidsdHlear Curg, GbsHw Chdw  srmsIFSer
SHENGLGUT  WIMIT?

a. MK a&mpg) b. Grm C. oIev Heumd arsh d. CamsBev
PHYSICS

What type of mirror is used in solar cookers?

a. Plane mirror b. Convex mirror

c. Concave mirror d. Bifocal mirror

b GUMBWITET Sledeir GameonT GHHaTeHeNed LWSLIGHSILGSBSI?

a. SN g b. @al sy

c. G sy d. 86 wsiy
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83.

84.

85.

86.

87.

Why the wings of an aeroplane are shaped with lower surface being flat
and the upper surface being curved?

a. to reduce vibrations

b. to make difference in pressure to lift the plane vertically

c. to accommodate more passenger in the wing

d. to strengthen the wheel fitted in wings

alorel @mHmauler SHUILTLL FooTeebd GBurlil eumeTeuTda b UL
o1h!?

a. 9IFTmaIs FHmBoHD

b. bTRIL L SIWHBHHMPH 2 WILTHE alrarhamsd Gbsougbus Gguiw

C. SIHBIOTET LiwlenlHemen SmoHendHeie0 6JBm

d. @psmaseicy QUTHSBLUILIL BelTen FoHEIHHBE euelenld BGFTHs

Betatron is a device for accelerating

a. Electron b. Neutron c. Proton d. Meson
LT gresT @SHaHieemen (PHHSGHID @@h SH(hHal
a. 6I60&L_[JTedT b. Buyl gmes C. LGy L mesr d. Guagmes

One of the four purposeful functions of mass communication is to

a. inform b. initiate c. instigate d. irritate
CeouGer GHTLTier BTG (WHHw GBSHCHTeTH6ME0 6B DG LD.
a. 9flalsHaHe0 b. GamT_BIGH C. HTewi(H d. emM&FFam’ HaHev

Which of the following seismic waves has the shortest wavelength?

a. P-waves b. S-waves c. L-waves d. Pg-waves
BHIPHHWIL BV DIHTEUMVBHEH6T BDH GHMMBbHSDH DIMEUHETID OBTERIL &I 61517
a. P-semeuselt b. S-simevasit  c. L- siemevset  d. Pg - siemevsme

POLITY

According to Article I of the Indian Constitution, the territory of India can
be classified into

a. Territories of the States

b. Union territories

c. Territories that may be acquired by Government of India at anytime

d. Territories of the States, Union territories and territories that may be
acquired by Government of India at any time

Ohaw  spfwevenolly FUL  alg @edledl U @bl HeouFliy  eTeleuTsI
QUM WIMISHLILIL (HETEN ).

a. LmHley DIJFHSHeI
b. welweir 1pGxHamimselt
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88.

89.

90.

91.

C. OhsHu  SOPFThSSSTe0  Heollgly  uGHser  6bsh  CHIsHslevd
GairdhaLILIL VLD

d. e oaser, welwer LIJ8HFmIGeT LBBID BHHW DTSFTHIBSHSHT60
Beoliugliy 6hs ChIsHevd GaFTéslIlL euTD

Which one of the following is NOT true in case of National Emergency?

a. It is imposed either in the whole country or only a part of it is
threatened by war or armed rebellion.

b. It has drastic effects not only on the fundamental rights, but also the
centre-state relations

c. It suspends the government and ordinary law courts

d. It has specific and detailed provision in the constitution
SpsaHamiaBmpled ChFw OBmHEBHY Henew OHTLTUTEIUBMIEL 618 2 606D
SBlemL_WITg)?

a. @bhFHWT (PUPMLEGLD DIFVVGH PT LGHEHSG FweLIBHSHSILGHBSH

b. &z owliumL 2 flewsamer 1O (BLO606V,  DSHHUIFDTHD 2B HMm6NUD
LTS SHHBS

C. SIJSMMISD BEPID FTHTIEWT HHIOGIBRIBN6T SHBHTEIIHLOTS OIFUIGOLILTLDGD,
5GSBS

d. 8z Osmiurs pflweominied @Gl L wwBgd elfleuTer OIDFBIGET
© sileNg

Who wrote the book “The Indian Constitution, Corner stone of a Nation”?

a. Granville Austin b. K.C. Wheare

c. Paul Appleby d. Harold Laski

“@haw SFFlwevenioliL]: CHFHH (LPmeVBH6L” 61GIIMB HITEHEV 6T(LSHIUIGUT WITT?
a. dyrenaled &erIQe6IT b. K.C. alwi

C. umeL Syl TeTenL d. Gamymed® euTerdd

How many recommendation were made by Ashok Mehta Committee
report?

a.122 b. 132 c. 142 d. 152

9I8g1EH CHEHT G 1HHwern UMbHHInTHmeT (LPeiTenelsHHSH!?

a. 122 b. 132 c. 142 d. 152

Which among the following forms a committee for recommending a
chairperson of state Human rights Commission?

a. Chief Minister, Speaker, Home Minister, Opposition Leader

b. Governor, Chief Minister, Home Minister, Opposition Leader

c. Chief Minister, High Court judge, Opposition Leader

d. Chief Minister, Opposition Leader, Governor
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92.

93.

94.

95.

SpHHMILaBMled  MbHlev ey o MenseT  HEMEMILSHET  HEDEVEUD]
ufbgieny Cauib & 6g?

a. (IPSHeLMIDFEFT, FUMBTWST, 2 6THIMB DIMFFT, 6IHTHBLFdH Hemevau

b. LEBBT, (PHOUMDEFST, 2 6lTHIMB DWWFFT, aFHTHHHdH BHemeveuT

C. (IPSHeLMIDFFT, © WIHHIGB bHULH, 6IHTHHE FdH HemeveauT

d. waemwFst, adisbsl Hh SHmevauT SLEDHHT

The Chairman of the Rajya Sabha is elected by

a. elected members of the Rajya Sabha

b. all members of the Rajya Sabha

c. Elected members of the Parliament

d. All members of the Parliament

grewl gl HemevalT @alTaented CaHihoeHBHBILGSIBITT
a. CaMmHOshaslLl L Jregul Fenu o BIlLeITaeiT

b. preyw gL DEMETHH 2 WBIILTTSHET

C. CHMHOsHHHILLL LMITEHLOSIB 2 BIILN6ITae6iT

d. uUTyTEBLEB SMaTHSH 2 BILGTTS6IT

In which schedule division of powers are enumerated?
a. 9th schedule b. 8t Schedule

c. 7th schedule d. 12th schedule
HHUW DPSFSHGID, LOTHY DIHFHGD DHBTIU URISH 6hHSH DI L euenesruied
GO BeiTeng?

a. 90U DL eIeneuT b. Seugml oI L euenem
C. 70u%l DI L 6)U6n6uT d. 126ug1 I L cuenewr
TAMIL NADU AFFAIRS

Who is the Chief Minister of Tamil Nadu during the period May 2015?
I. Thiru. O. Panner Selvam

II. Thiru. Edappadi K. Palanisamy

III. Selvi. J. Jayalitha

a. AGovernor Rule

a. IV only b. I and III c.Tand II d. IIT only
W@ 2015 &MeusL LHH0 SIS (PHeoeUTTH LS 6UBldHHauT Wmr?
. Hm. O. ueieit GFsveuld II. gm.ertiumg K. upefgmo
III. Qgeval Ggg. GeguievelsT IV. seuitent sy &

a. IV ol @pw b.l wpgw I c I wppd I d. 0T wl G

The dam which is known as Stanly reservoir is

a. Tehri b. Kosi c. Hirakud d. Mettur
oL 660 HTHCHHBLD CTHIBENLSSLILIBLD  HI6n6u0T
a. QLam b. Gardl C. anflpT&L. d. Gl @
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96.

97.

98.

99.

100.

ZOOLOGY

Who discovered Rh factor?

a. James Watson b. Robert Hook

c. Landsteiner Carl d. William Hervey
Rh sryemd wimymed  seurpSluiiii L g)?

a. Geiberd UL et b. grum’ amrd

C. GUITEITEYOENL ST BTV d. elebelwid ammial

Which of the following is male accessory reproductive glands in
mammals?
a. Gastric gland b. Mushroom shaped gland

c. Prostate gland d. Inguinal gland
SpHeniLauBmled UM lguilelr opemt @erliCuUmebs SHlemew S&IUIWTS  E\(HLULIS
o1gl?

a. smeolflé &y b. werdepd eugen &L

c. UGymerd@LL. &yl d. @eaigered &l

Haemoglobin, haemocyanin, serum, albumin are type of proteins.
a. regulatory b. transport c. storage d. protective
an3Guom@Genmiier, am3Gomengulener, &JWb, SLeOLe SBUImel _ aUmd LIS
a. & BUUBSHSID b. &Lz
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Find the correct statement/s:

I. Signal molecule carries a message to the target cell

II. Target cell detects the signal molecules and receive the message.

a. I wrong II correct b. I correct Il wrong

c. Both Tand Il wrong d. Both I and II correct
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Mature sperms are stored here.

a. Vas deferens b. Seminal vesicle

c. Epididymis d. Seminiferous tubules
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